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TEST DE INGLÉS (II) 
 

 

1.- The scarecrow had a melon for……… 
 

a) the head 

b) head 
c) a head 
d) one`s head 

 
2.-It`s likely to happen …. Future 
 

a) In a very near 

b) In the very near 
c) In the nearest 
d) In nearest 

 
3.- That was…. End our relationship 
 

a) the 
b) an 
c) some 
d) no 

 
4.- It happened…. negligence 
 

a) As a result of 
b) Resulting from 
c) As resulting from 

d) A result of 
 

5.- “Have….., Margaret”, I said, “Don`t throw me out like that” 
 

a) a heart 
b) the heart 
c) some heart 

d) heart 
6. The question of…….of them is to become chairman is not important. 
 

a) what 
b) which 
c) who 
d) whether 

 
7.- He said, with…..sounded like a sudden anxiety: “You`il wait for me, wont you?” 
 

a) what 
b) that 
c) which 

d) that which 
8.- He read the paper every day, at least….. of it he could understand. 
 

a) that 

b) which 
c) some 
d) what 

 
9.- The members of the conference have been pressing hard for concessions in….. the 
Kennedy Round. 

 
a) that is known as 
b) which is known like 
c) what is known as 

d) which is known as 
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10.- No question…. Britain has long been considered a privileged partner by the U. S.. 
 

a) as to 
b) as 

c) that 

d) since 
 
11.- ….his book, he had only one aim: to defend his faith. 

 
a) In writing 
b) To write 
c) By writing 

d) Through writing 
 
12.- Southern Africa has recently changed…. All recognition 

 
a) without 
b) from 

c) out of 
d) above 

 
13.- The present negotiation is…. Who should represent the farmworkers. 

 
a) for 
b) as to 

c) over  
d) whether 

 

14.- That idea worked satisfactorily……to 1960. 
 

a) on 
b) down 

c) along 
d) up 

 

15.- l am looking forward…… meeting you there 
 

a) for 

b) to 
c) at 
d) towards 

 

16.- It is high time we…..a different set of values. 
 

a) Adopted 

b) Are adopting 
c) Would adopt 
d) Shall adopt 

 
17.- We wish….this book in vain 
 

a) we shall not write 

b) we should not write 
c) we had no written 
d) we have not written 

 
18.- l wish…. come and dine with us. 
 

a) you`ll 
b) you 
c) you`d 
d) you`ve 
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19.- She was surprised to find that he…… recollect her name at once. 
 

a) could not 

b) cannot 
c) is not able to 

d) should not be able to 

 
20.- How such a policy….. is less clear. 
 

a) achieves 
b) is achieving 
c) is to be achieved 
d) has been achieving 

 
 
RESPUESTAS 

 
1.- C 
2.- B 

3.- A 
4.- A 
5.- A 
6.- B 

7.- A 
8.- D 
8.- C 

10.- C 
11.- A 
12.- C 

13.- C 
14.- D 

15.- B 
16.- A 

17.- C 
18.- C 
19.- A 

20.- C 
 


